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7 wngﬁs the fish swinmming sideways?

i £ = Solve the following problems and match your answers to the answers
Y '{f &I in the Legend. Then record the corresponding letter of the correct
.y answer in the rectangles at the bottom to answer the riddle.

DIREGTIONSY  Note: The problem numbers match the numbered rectangles.
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e _hg Find the area of the shaded regions in problems 1-12. Assume all answers are in units squared:
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@ A quilt measuring 9 feet by 6 feet has a blue background with A garden is a square measuring 13 feet on each side. The
6 gray squares in the middle measuring 1.5 feet by 1.5 feet. garden has two planter boxes measuring 4 feet by 8 feet. What
What is the area, in square feet, of the blue part of the quilt? is the area of the garden NOT contained in the planter boxes?
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@ A carpeted room measuring 14 feet by 16 feet has a fireplace whose brick base measures 1.5 feet by 6 feet. It also has a
rectangular section measuring 3 feet by 2 feet that is tiled. How many square feet of carpeting does the room have?
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Skill: Finding area between rectangles LLALD RIS
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Solve the following problems and match your answers to the answers
in the Legend. Then record the corresponding letter of the correct
answer in the rectangles at the bottom to answer the riddle.

Note: The problem numbers match the numbered rectangles.

© 40 © 255
@ 29 (L X0 © 1365 [ K RE

[N AN @ 4 ® 59 (E B

/)

Find the area of each figure in problems 1-11. Assume all answers are in units squared:
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A room measures 12 feet by 12 feet and needs to be recarpeted. In the room there is a fireplace that has a rectangular
base measuring 5 feet by 1.5 feet. How many square feet of carpet is needed to recarpet the room?
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Skill: Finding the area of complex figures with right angles CROEW_N -
W CLASSCROWN

© Copyright 2016 ClassCrown™ 1




